A6Gcon0THOE NPeruMyIecTBO — ¢ 60JIbIeH MPOU3BOAUTEIbHOCTbIO, CDABHUTEbHOE — ¢
MeHbMMHU OC.

HAC: Ps=P/1+t; Tx=(t/1+t)*P*Q Akuus: Ps=(1-t)P Tx=t*P*Q
IEdI=P/Pmax-P=Qmax-Q/Q MR=P(1-1/IEl)(Bceraa)=MC(npu max IT)

Ed>0 - cy6cTtuTyThI(<0 - koMieMeHTb) Es=P/P-Pmin=Q-Qmin/Q

SuzQ-Es<1 SusP-Es>1

AVC=w/APL MC=w/MPL ACAcAQ-IRS All=P-AC

P>minAC(ocraercs B ck), minAVC<P<minAC(ocT B SR)

MRPL=w MR*MPL=MCL(MoHONCOHUS)

O6uectBeHHble 6s1ara - cJI0XKeHHe CIPocoB no BpeTukanu(P=...)
G=1-S2/5000=S1/S=1-252(B poasix)

L=P-MC/P(Bceraa)=1/IEI(B Touke onTumyma)

Y=C+S+T Yd=C+S 1=Sg+Sf+Sp BBII(no noxoaam)=|[3apnaata+apen/iHas njara+/,0Xo/ibl
co6CTBEHHUKOB+%+npuObLIb Kopriopauuii|+Txkocs+A]+YIUD ([] - HJ, [] - BHIT)
JIA=H/l-[Ikopnopaunit+auB+TpanchepTbi+%I0 ro-B3HOCHI Ha COLCTPaXOBaHHe
[lkopnopauui=Tx Ha Il kopnopauui+I1 Hepacnp+ gus  PJI/1=J1/1-Txuna=C+Sp
Canbpo rocoropkera=Txuna+Txkocs+Tx Ha [1 kopn+ B3HOChI Ha COl| CTpaxoBaHHe-
Tpancd-%no ro -G

HUITI=Cymma Pt *Q0/cymma P0*Q0 Def=cymma Pt*Qt/P0*Qt

14r=1+i/1+[1  i=[l+r

AM=K/rr M=C+D mm=cr+1/cr+rr+er

M1= HaJIM4yHbIe+/1eN03UThI /10 BOCTPeOGOBaHUSI+/10POKHbIE YeKH

M2=M1+Me/iKHe CpOYHbIe BKJIa/ibl+cOeperaTe/ibHble BKIa/Ibl

M3=M2+KpynHble CPOYHbIE BKJIa/Ibl

L=M3+I'0

Mpc=AC/AYd mps=AS/AYd MultG =1/1-mpc Mult Tx=-mpc/1-mpc Mult Tr=mpc/1-
mpc

R d/f=Ed/f* Pf/Pd

CyeT Tekymux onepauui: Xn, YO/, mexxayHap TpaHchepTHbIE NJIATEKH

CueT ABMIKEHMS KaluTaaa: MOKYNKa LleHHbIX OyMar, HHBECTHIMH, HE/IBUXKMUMOCTb,
Kpe/HTbl /1€M103UThl, MOKYIKa BaJlOThI.

Cuer uaMeHeHust 3BP: ckynaeT MHBaJ1 — €O 3HAKOM MHHYC

NPV=-I+ cymma CFt/(1+1)"t

Ap=a1+d(n-1) bp=b1*qn1
Sn=((al+an)*n)/2=(2al+d(n-1_/2)*n Ss=b1*(1-q”*n/1-q)=bn*qg-1/g-1
S=b1/1-q(6eckone4yHo ybbiBatoLias)



